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. fRY +(tanx)y =sin2x [ & KEMFT]

Solve %Jr ytanx=sin2x, y(0)=1. [ FEH#EMAT 10% » 91 GFRHMETAT 10%]

Solve y'+ytanx=sinx, y(0)=1. [87 HJFH+AFT6%]
Solve Y+ ytanx=secX. [87 FH-KZ=FT 10%)

Please solve the following initial value problem: Y +3x’y=e*/x*. [96 &AWLt
18%]

(a) Solve Yy =(x+4y)/x, y(0)=0. (b) Y =(x+4y)/x, y(0)=1.[93 &RLAFT
12%]

Solve X%-F(I—X)y:XGX. [93 K[EISEERT 12%])
X

dy1 2X

Solve =+ =1+
dx X +1

y. [94 B8 THT 25%)

Solve W = 2X =Y o4 4 hepimfr 15%])
dx Xxlnx

Solve y'+ycotX=>5exp(cosX), y(%} =—4. [93 §H{-ET-AT 10%]

Given Y+ P(x)y=Q(x), (1) find general solution, (2) P =-2x, Q= X, solve y. [94 &
REFFT 10%]

Solve xy'—4y=x€". [90 FJH + KT 6%]
Solve xy'—2y=xe". [90 dtRIABN{LFT 20% )

Solve Y —Ly=x +2. [88 GRIESTH 12%]
X
Solve X'y +3x’y+x —1=0, y(1)=1. [88 thJyEEERT 7%]

Solve y’—%y:4x, y(1)=2. [87 dERIE J1FT 15%]
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Solve xy'+2y=¢€". [87 #5FETFFT 10%)

Solve y' =3x(y+2), y(4)=8. [88 d15E TF7 10%])
Solve xy’+2y:§sinx, y[%jﬂ. [90 <5 AHERKFR 25%)

Solve xy"—Yy =(x+3)x’e*. [90 H1E+AKFT 10%]

For the differential equation X*—2x+Xy'+2y=0, (a) find homogeneous solution, (b)
find particular solution. [91 HriLI#EEHFT 15%)

Solve y'+2xy=4x, y(0)=3. [89 FKETFHT 5% » 89 3 T(LTAT 10%]
Solve (x+2)y =5-8y—4xy. [90 JE& T THT 10%]

Given ;—‘i+ P(x)y=Q(x).

(a) Find a general solution of .
(b) If P(x)=-2x, Q(x)=x, findy. [92 X2 KEFFT 10%]
Solve y'+ y:(x+1)2, y(0)=3. [90 HIEEMFT 10%]

Solve (X' +1)y'+3x’y=x"—1. [89 3T+ AKFT 15%]

Solve y'—y=¢€™, y(0)=2. [89 FAKFIAT 12%]

Solve y'=4x2—¥, y(1)=2. [89 HFEKERFT 10%]

Solve y+3y=3, y@ 0. 88 ERIEHLFR 10%]

Solve y'+ f (x)y=r(x), thensolve y'—y=e". [88 ItF}+-7RFT 10%]

%_l}%. [87 & AHERFT 5%)

Solve y'+ y( n

Solve (X' —4)y' +2xy+4=0. [88 ERHEZMT 10%]

Solve Y —y=€"+x*. [88 AT K+ ARFT 15%]




34.Solve xy'+2y=¢€+Inx. [88 JTE T.T.Fft 10%]
35.Solve (1+X )y —2xy=1+x*, y(0)=1. [88 BFHETAT 10%]
36. Solve (X +4)y' =2x-8xy, y(0)=1. [88 B AEMFT 5%]

37.Solve y'tanx—2y=4. [87 fiti+ KFF 10%]

38. There are four different first-order differential equations:
o ﬂ: Xy+3X—y-3
dx Xxy—-2x+4y-8
® dy _ X =3xy—4x+4
dx X' =X=2
® dy _ ycos(xy)—e”
dx 2xe” —xcos(xy)+2y

dy _2e”+5y-y’

dx X—2e*

(a) Which is the linear equation? Please prove it.
(b) Please solve this linear equation.

(c) Which is the exact equation? Please prove it.
(d) Please solve this exact equation. [91 X2 K EARFT 30% )

@

39.Solve (a)y'+y=xe* (b)y +3y=4x, y(0)=2. [91 dhfi+AKFr 20%]
dy(t) 2 _ -t _ NN VY 0
40. Solve —_ == +3t y(t)=e"", y(0)=y,. [91 ZAEEFT 20%]

41.Solve y =3¢ -2, y(1)=5. [90 ERITEHEFT 15%]
X




